STAT 106

EXERCISE 6
1. Find the following:
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2. In how many ways can we form a committee of size 3 from



(a) 5 doctors ,

(b)  6 nurses.

3. Determine whether the following can be probability distributions of discrete random variables: 

(a) P(X = x) = x/15 
   (x = 0, 1, ... , 5) 

(b) P(X = x) = (5— x2)/16 
(x = 0, 1, 2, 3). 
4. A random variable X has a probability distribution given by the equation 

P(X = x) = cx ,      (x = 1, 2, 3, 4)  ; where c is a constant. 

(a) Find the value of c. 

(b) Find    (i) P(X < 3), (ii) 
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	x
	0       1       2       3     

	P(X = x)
	0.1     0.5     c     0.1


5. Let X denote the number of patients who attend a clinic in one hour. Suppose X has the following probability distribution




(a) State whether X is discrete or continues. 


(b) Find the value of c .


(c) In a given hour find the probability that at least two new patients 

     will attend the clinic


(d) Find  
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